1
| ) DST.F-2-
ffg qafaart Hrgfe AR TR 7. %ﬁﬁ#—mﬁmwmév =
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A B c p S & 3 310t e o e 1w SR
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b 2 1 4 gs 8. TEHl Sy o aa Y frram v a2 0
@ 4 3 9 o (@) S IEHER e
@ 3 4 10 (b) SRR E
3. “OTTCHT I T oI & SR 7 o w2 0 E;)) $$E§§|%|
(a)  Frofer fopere we 3 g 9. IFETH el A I e R
(b) - HYST HE&dt T Sfta | (a) SHFQ o T el aTa TeH
(o) Taradia sgofi s et | (b) STHT ¥ S e ATt
@ T SfieT A | () T ht IUeT ek S Tt TeHT
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21.

ﬁ-qf%lﬁgﬁﬁm%:
(@) St (R) oA
(c) U= (d) WER
ﬁ%&ﬂﬂ@%ﬁ‘i%:
e, s
by 3, AR, TTEG
e, e, S
(d) ST, T, SASHT
ﬁn%ﬁaﬂaﬁmﬁﬁwmjaﬁqmqﬂﬁm
me‘l:
L e e o e e T S © )
o TagF F gaT AR e
PR T e T A e
(@ 1TEAW2TALT (D) 1 3T 231 T §
(¢) 1E@W2Teds (d) 13 2T Ot €
@aﬁmﬁﬁaﬁmﬁﬁt@%guﬁﬁmw
EpEEdIE I _
ST, Shei T, HeR, AT

gﬂ*“?’!"’!"

@) 23sTd@d () 13M4TEE
(@ 13emd@d  (d) 33M4EEE
el T S ERAT I ©

(a) 3o (by” STTS

(¢) dMT (d) et
fraffiaa § ¥ FH-a a1 SvTE © ?
(a) TS hl T I G ST

(b) it bl o G AT W T |

(c) BT ol Teh AT @G AT |

(d) T AT Y AT &S |
Femr frw s A fasfaa gd e -
(a) odmTTe SqyITH

(b) YTl ST

() SN Oy d

(d) HrTH AT Y
Freferfea # sraca s Tt 2

@ T (b) &

() =« (d))P

22.

23.

24.

25.

DST.F-2-24
?wmﬁmm%‘m’m%@am
(a) %ﬂm (b)
(c) @ETH (d) m:qgm
i1 1 - gifra ARr s g % 49
e e e =t s R wE s g

TEt-1 ;\j.' HeT-11

@=) (rraTeft vreT)
A T M 1.0 S, EETRRn
B. afa 2. qu, HEd
c. fuh 3. o, ufe
D. 39 4, TR, uda
T:EC 5

A B C D

(a) 2 3 4 1
® 4 2 1 3
© 1 2LN 3 4
@ 3 4@ 1 2
geft-1 o0 get-0od gafera fifvre ok gfrdt &
R T o T ST T I

gl 0N eI

@) - - @A)
A, TS 1. Lm-gﬁ:
B. WelcHd 9. gurdfer
C. HdFa 3. el
D. fi=mesT 4. alﬁ;-gﬁ]-
&

A B_C D
(a) 4 2|~LQ 3 1
(b) 1 4& 2 3
c) 3 1 4 2
@ 2 31 4
Wmaﬁ"%@a%
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26. Select the correct order of mending the

puncture in a cycle tube :

1. Wait for material to dry.

2. Remove tyre and tube and dip in water to
checl.

3. Fix the tyre and tube.

4. Mark the spot and apply puncture
mending material.

(a) 1, 3, 2, 4 (b) 41 3) 21 1
© 241,383 ~ (D 2,38,1,4
i
27. Fill in the blank(Wwith the correct option.
We oqrqplves to the circumstances.
(@) Adept ™ (b) Adopt
(c) Adapt (d) None of the above

Read the following passage carefully and answer
questions number 28 to 32 based on the passage.

Leadership studies is an emerging discipline, and
the concept of leadership will continue to change.
Leadership lore is deﬁned as an influence among
leaders and followerwho want_real change and

outcomes that reflect<their purpose shared by the
leaders and -t—}’Er_—fol
the relatmnsth ampng people is not passive;
however, also part of tHik definition is that influence
is multidirectional. It does not use orders or threats
to make somebody do somethlng Leadershlp is
something a leader does to a follower. However,
leadership has an effect in both directions. In most
organizations, superiors influence subordinates, but
subordinates influence superiors as well. The people
involved in the relatlonshlp want real and
important changes —T,leadershlp involves creating
change _not maintainifig what normally happens. In
addition, the changeg:fsought are not dictated by
leadefs, but reflect the"durpose thatmotivates them
toward this more prefr rable outcome An important
aspect of 1eaTrshp is 1nﬂuencmg others to come
together around a common vision. Thus, leadership
involves the influence of people to briné about

ers. Tnﬂuence means s that

change towards a desirable future.

28.

29.

30.

31.

32.

@

il Al B W

DST.F-2,

What should be the outcome of leadersh,
actions ?

(a) Movement towards the vision of th
leader.
(b) Movement and strengthening of

authority of leaders.

(c) Movement towards common vision of tk

leader and the followers.

(d)

Movement towards the vision of th
majority.

Find the synonym for the word ‘traditions’ i
the above passage.

(a)
(¢) Leadership

(b) Relationship
(d) Lore

Organization

What is the main theme of this passage ?
(a)
(b)
(e)

Explanation of leadership construct
Politics of a country
Discussion about followers

Future of a country

The concept of leadership discussed in thi

passage is :
(a)
(b)
(c)
(d)

Exceptional
Vertical/Top-down -
Hori’ZOntal

Individualistic

“Leadership studies is an emerging discipline

means:

(a) Leadership studies is an established field

(b) Leadership studies is an evolving domair
of scholarship.

(¢) Leadership studies is a valid field of
research.

(d) Leadership studies is an elaborate field.
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48
,’,{H Find out the synonym for the italicised word
33 given in the following sentence.

He was filled with remorse for the action.

(a) revulsion (b) despair

repentance (d) regret

(c)

a Which of_the following is the correct passive

form of the following ?
“Who has cut the tree ?”

By whom has the tree been cut ?

()
(b)
(c)
(d)

By whom was the tree cut by ?
Who has the tree been cut ?

By whom was the tree cut ?

Change into direct form :

I said to him, “How do you know this ?”

35,

(a) Iasked him that how he knew that.
(b) I asked him how he knew that.

() Iasked him how I knew that.

(d) Itold him how I knew that.

meaning of the idiom given below :

‘To end in smoke’.

(a) To have no result; to come to nothing
(b) To find out the result in the end

(c) To come to an end

(d) To find out the smoke

own horn’ ?

(a) To be the devil’s advocate
(b) To announce self defeat
(¢) To boast about oneself

(d) To suddenly become very angry

Choose the correct option to find out the

What is the meaning of the idiom, ‘Blow one’s

The Vision

38.

39.

40.

41.

42,

43.

44.

45.

DST.F-2-24

Choose the correct antonym of the following

word.

Slooray

Cheerful

Boring

Straight

None of the above

(a)
(b)
(c)
(d)

Select the word whic’}rQs opposite in meaning

of the following : e
Indiscreet N

(a) Honest p@) Stupid

(c) Reliable (€d) Prudent

The art of beautiful handwriting is known as :
(a) Designing (b) Orthography

(c) Calligraphy (d) Stenography
Choose the correct alternative which replaces
the given statement/sentence :

“Anything -written in a letter after it is

signed”.
Lﬁ) Postdiction
r¢d) Corrigendum

(a) Manuscript
Which among the folwmlt

(c) Postscript

word ? <t
(a) Obliterate ((\%) Obleturate
(¢) Obleterate (d) Obliterait

Fill in the blanks with the correct options.
“  heworked, he failed.”
(a) Hardly; when

(b) Other; than

(¢) No sooner; than

(& Though; yet

ill i i t option.
Fill in the blank with the correc
one of the bofﬁvas in the playground.

(a) Neither «p) Either

All
(¢) Every @‘)’

tepie:
Find the correct sen ﬁ
(a) Heis rich enoug to starve.

(b) Heis too rich and he starve.
(¢) Heistoo rich to starve.
(d) Heistoo rich not to starve.

................................
.......
-----

“en
.....

---------
...........
.....................................
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47.

48.

49.

50.

51.

52.
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13 is related to 2190 in the same way as 14 is
related to :
(a) 2737
(c) 2736

In a circle, if radius is doubled, what happens
to the area ?

(a) It triples

(b) It remains the same

(b) 2739
(d) 2738

(¢) It doubles LM
(d) It quadruples Q
The values of x and y in@e following diagram
are : oy
™"

(a) X=18,y=7
() x=7,y=18

NP

12

(b) x=16,y=9
d x=9,y=16

The value of which of the following will
not change if a constant pumber is added to all
the scores of a series 7 ™~

(a) Median x

(b) Standard deviation <}

(¢) Mean {f;)‘J

(d) Mode

If the side lengths of a square are doubled,
then how much area will be increased ?

(a) (b) 5 times

(c) (d) 4 times

196 is distributed in 300 children. If girls
d boys 50 paLirg.)a, then what is the

3 times
2 times

gain T1 an

number of boys ? [~

(a) 210 (byd-214
(© 208 (afgiz12

X — 4 and 2x — 1 are faglors of which of the
following polynomials ?

(@) 2x3_7x2, 5x 4

(b) 2x3 _ 752 _ Ex + 4

(c) 2x3+7x2+5x+4

46.

47,

48.

49.

50.

52.

re @77' g’)fq’
A %ﬁy

DST.F-2-2
ﬁummzﬁiﬁm%zwoﬁ,wﬁmu#éfﬁ
? :f
(a) 2737 (b) 2739
(c) 2736 d) 2738
@qaﬁ,@ﬁﬁﬂgg——ﬁmaﬁm,ﬁréﬂmf
1 T IS & 2
(a) T < T & ST E
(b) TEIMATEAE 7
() TE TS IE
(@ & <A € ST 8
ﬁmﬁﬁaa@ﬁrﬁxaﬁty%m%:
(a) x=18,y=7 (b) x=16,y=9
() x=T,y=18 d x=9,y=16
aﬁ%ﬁaj@w%wﬁﬁﬁ@@?m@gé
m,??rﬁm%ﬁaaﬁﬁ%q%mﬁqﬁaﬁ##
B ?
(a) TS (HEAIF)
(b) T foreed
() I (TEHR)
‘) g
wﬁ%ﬁaﬁaﬁgm&@m&m&,a‘raﬁm
e =g ST 2
(a) VAT (b) W=
() WA ) =TT
f1gsaﬁaooaﬁﬁﬁﬁawmﬁa§%ﬂ, EIkd
aﬁtagﬁﬁsoﬁﬁfﬁé,a’rasﬁﬁmw%?
(a) 210 (b) 214
() 208 d) 212
ﬁm%ﬁaaagqﬁﬁﬁ%a%nm@v@x-mﬁ

2x3—7x2—5x+4

2x3+7x2+5x+4
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' (@) 3x (2 + 3y?)

5

5.

56.

57

58.

59.
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+(x~y)3is:
(b) 2x (x2 + 3}’2)
(d) 2x(x2_ 3y2)

The factor of expression (x 4+ y)3
53.

(C) 3x (X2 = 3)’2)

The work capacity of A is three times more
than that of B. Both of ther together can
complete a work in 15 days. In how m

54.

any days

will A alone complete that work ?

The cost price of 40 oranges is equal to the |55-

selling price of 30

oranges. Find the
percentage profit.
(a) 25% (b) 22%
(c) 20% (d) 33-33%

56.
A man covers half of his journey at a speed of

6 km/hr and the remaining half at a speed of
3 km/hr. His average speed is :

(a) 3 km/hr (b) 9 km/hr
(¢) 4'5km/hr (d) 4 km/hr

A number when divided by 53 gives 34 as
quotient and 21 as remainder. Then the

number is :
(a) 1800 (b) 1924
(c) 1823 d) 1723

The number of subsets of A = {0, 1, 2} will be :
(a) 7 (b) 8
(c) 6 (d) 9

If the difference between compound interest
and simple interest on a sum of money in
2 years at 10% annual interest rate is T 12,

then find the amount.
(a) %1200

(¢) %240

(b) ¥ 2400
(d) T 1000

Surya sells 45 pens and suffers a loss equal to

the selling price of five pens. What is his total o0

loss percentage ?

(@) 11-11% (b) 10%

(© 9% (d) 12:5%
------------------------------------------------ A 7 A

57.

58'

59.

. DST.F-2.24
SASE (x + ¥)° + (x - y)® TR

(a) 3x(x?+ 3y?) (b) 2x (x2 + 3y2)

(© 8x(x2-3y?)  (d) 2x(x2-3y2

A W R 3 it @war B W i T i R Ao
Torerert weh i 1 15 1o B QU TR B 1 A 3Rt

FEA H R A dquamme? g3 p
(a) 1875 iy B 20
(c) 18- M~ (@) 21

—-'-

40ﬁaﬁwm{§f(cp)3oﬁaﬁ%%mq§q
(SP) o == & | Tm-ferema 3 i |

(@) 25% YV ) 229

() 20% (d) 33-33%

T et A0t omeft aEn 6 fRdfisder f wrer @
3R T reft AT 3 foRel/eer o <Ire & e |
I AEafa =

(a) 3 ferrfi/feer
4-5%rﬁ/da§
Ueh §E& i 53 ¥ S 0 9 amTee 34 qur
ﬁﬂwmmﬁm?ﬂ TWHET®

(a) 1800 & (b) 1924

(c) 1823 (d) 1723

) 9 Frf/ser

(c) (d) 4 frdt/eer

A =1{0, 1, 2) % STEH=AA! i T 20t :
(a) 7 (by 8

(c) 6 (;*)9

AT 109 aTfiier saTer HY X 2 a9 foelt v &6
e SATS ST JITHOr saT & S{ T 12 8, A T

mﬁmﬁaﬁﬁm@‘
@ T1200 O (b) = 2400
(c) T 240

¢\ (d) T 1000
m <

gﬁ45ma€m5mﬁ%ﬁmn§ﬁam
a1y e & | 3 et fva e B g 2

(@) 11-11% (b) 10%

d) 12:5%
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& . ’ b of integers D satisfying| g1, U A gem S -n+220 R 20 24°
61. _ne+220an62n2415 Wiﬁﬁﬁ%%
@ 1 (b) 4 @ 1 (b) 4
@ 0 (d)- 2 © O (d 2
62. s-digit]argest prime number is : 62. mwﬁmﬁwm%
(a) 998 (b) 996 (a) 998 (b) 996
(c) 999 (d) 997 (c) 999 (d) 997
s Lot A= la b c e fifl B = cdfehles. AR A= (a, b o & 8
and C = o d, e '\: h, i). The value of B=Ibcdf8 hyau C = {c, d, & & h, 1}E
(A-B)—-(A- C)—(C=P)is: (A—B)—(A- ) - (C - By FAAR :
(a) (b ;g ¢ @ bl b b
(0 lal d) f{c} o la) (d) f{c
64. Who first calculated the value of T ? 64. ;)%mzﬁmﬂmmﬁﬁﬂﬁ?
(a) Archimedes (a)
(b) Thales by ol
(c) Pythagoras (c) ‘TIEW
(d) Aryabhatta ] @) oAEWE
3 2+2x_4a»‘r,—x+1%mrréﬁ

65. Bydividingx3—6x2+2x—4by:2§x+1,the 65. x° — 6x

remainder is :

(a) —}3—6 :IS_S - 136

27
136 =3
— 136
© 5 %‘)
66. The value of x in the given figure is 66.
wur g -
(© 130° @5 110° g
67. If the median of the fpllbwing data is 11, then 67, afe Prefafad Tfel T ATe 11 ?,AKE
: find the value of K: | ' EIGEIEIE
‘\ 3,21,10,7, 6,9, (K + 6), 15, 20 3. 21,10, 7, 6,9, (K + 6), 15,20
((a’ 7 ) 5 @ T b) 5
---------- 4 @ 6 © 4 @ 6
- A 8 A
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ﬁ if cogszﬁ;i ;srcsril‘g% E?a ?’1, what will be |68, afd CONSTABLE %1 91 % & i Fifeq frar smar
# pe code — ®, W STABLE I e g # 2nft 2
@ 8 @ (a) 78 b 7
© 97 () 97 (d) 59
f BELONGINGS is codeg as TABLESTESF, |69. 3¢ BELONGINGS #! TABLESTESF ¥ &9 &
¢ pow will you code LINEN % TS o ST R, A LINEN 1 %1 o1 2 2
(@ BTAEA (b) TABEA (a) BTAEA (b) TABEA
(© BTEAE (d) BATEA (c) BTEAE (d) BATEA
LM
Which one is different from the other three ? 70. FfafEaiia da s da i 2 2
b . _
(a) Table () Window (a) B (b) fasr
(¢) Door (d) Gate (c) Ty (d) BITH
m L)

: As ‘poster’ is related to ‘wall’, in the same way | 71. S IR A ¥ weiE 2, 3 & s,

" hotograph’ is related to : frea geftm 8 2
(a) Beauty (a) =T (Beauty)

@) Frame (b) %" (Frame)
(c) Camera Oy AU (Camera)
@ People (d) T (People)

9 When two people get together, the onel72. & ar arf%@mr T BId 8, 9 370 ¥ S <8 W &
who appears more relaxed in body language et 1§ iftp fotem 9 wig Rear @ T
R __ dargl O
(a) is higher in power hierarchy (a) : T T I=9 WL
(b) is senior in age (b) H@%ﬁﬁﬁ
(¢) belongs to higher socio-economic status (0) I TR ot =1
(d) All of the above ) Z-N'éﬁﬂ‘ﬂ‘ﬁ

L. __ s influenced by inter-personal) STt g grr wifa BT |
context. (a) (i) e s
(a) Gesture and posture by R
(b) Education Q- TR
(c) Speech style M~

. (d) YHEIHUHTH
(d) Problem solving N
: ile |74. 200 H, 90 T W@ TR F ¥ T
i, Among 200 persons, 90 pezgle hkfetﬁ;e“g:tlﬁ L08 ST bt ez ey SR 46 T = i
h 0 . :
:3 S people like I(_:IOffe;z:iv pe;:aleplike neither Feht 2 TE e § | R A i@ E A A=
a and coffee. How qH= Y & AT B Hih! TH< F E 7
tea nor coffee ?
() 44 (b) 46 (a) 44 ) 46
(© 48 d) 62 (c) 48 (d) 62

............................
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79.

80.
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233 235
s b) ——
@ 590 ® 000
235 237
2= d) ==
© S50 @ 390
Ogive curves for ‘more than’ type and ‘less

than’ type distribution intersect at :
(a) median (b) origin
() mean (d) pmode

If the points (1, x), (8,~2) and (9, 5) are
collinear, the value of x is

@ -2 by<h
2 ™~
© 2 @ L1

2

2 cubes, each of volume 27 cm?®, are joined end
to end, then the surface area of the resulting

cuboid is :
(a) 81cm? (b) 32cm?
(¢) 90 cm? (d) 54 cm?
How many triangles are there in the following
figure ?

75.

76.

7.

78l

DST.F-2-24
0235 =7
233 235
&) 990 ®) 500
235 237
T Y w3 gwR ¥ R faa & fom
mm@-@muﬁﬁzm%:
(a) WIRARIT (b) HA-feg W
(c) NEd (HEEAT) T (d) Fgedh W

af frg (1, ), (65, 23/ (9, 5) W@ T, @ x =
qHE
(a) -

© 2 (@

2
97 AP STEE 1 2 BT Y T R g R T
SreT STaT &, A TR ST shT TE & 8 :

(b) 1

no|an

-1

(a) 814w (b) 3232
(c) 90 arft? () 549>
frferfaa sl i fora BT € 2
.'
V‘
2
¢ [ ¢
(a) 10 ® 11
() 8 dT 12
aoft 4, 18, 48,2, 180 A TEATR
(a) 80 (b) 100
(c) 60 (d 90
2
AR x+iooda —2X 2  grogmam:
X 3x% +4x + 3
1 1
(a) 5 (b) 2§
2 4
() —= d —
Y B @ 3

HCF (306, 657) = 9 fear &
LCM (306, 657) J1a Shifsma |
(a) 21331 (b) 33228

LN
M~ 79.
{j‘
(]
‘d.
o™
(a8
(a) 10 (b) 11
() 8 (d) 12
The missing number in the series is :
4, 18, 48,7, 180 80
(a) 80 (b) 100 :
(c) 60 (d 90
2
Ifx+—1—=2, then the valye of —g—xi
X f\ 3x“ +4x+3 81
Wﬂl be ‘d. *
(@ = oz L
2 3
2 . 4
= afnz
© < @
Given HCF (306, 657) = 9. 82.
Find the LCM (306, 657).
(a) 21331 (b) 33228
(c) 22338 (d) 22318
A 10 A
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| puman nature to knowTvI;rhy we/others | 83, _gm/qel W i s Rt qlds & e w0 3
qt e in @ specific way. ’e process ?f "‘—“"‘-W ST T : N A
. l:f]p?aini pg our own and others’ behaviour is X £ o 3 3“' %t\l

~prosocial behaviour (a) THIREF gwel =aRw

(8) attribution - (b)  TmqUr

() Altruism (c) .~ Tfeware

(3)) piscrimination (@) forrdeo ~

Erendeﬂcy of people to like each other is|g4,. Mﬁ@'@nﬁmmﬁm 2
) : (a) AR

@ prejudice ) et

tiveness
) Attrac i . © o=
Reciprocity of liking
ES)) Discrimination ‘ (d) fersrdierroy

Which decision-making bias refers to the 85. fota o & #iler qatme qg'(«ﬁ T YTH SR T
: tendency to give excessive weight to the first SR HE & Y o Gehid FaT 2 ?

information received ? (a) W‘Eﬁ'ﬂ'ﬁ'
(3) Confirmation i (b) WY g
(b) Hinds1g. t ias (c) U
(c) Anchorng bias o = E‘E@Q*—.qaigg
(@ Availability heuristic d SN H(q_ai“ 34) ﬂlql:“ .
t are the four basic communication | 86- ﬁoiﬁﬂlél S HSEOT R :
¢ W&E ? 1. @ag 2\ Vg1~
5 5 ¢ . .
1. Understanding 2. Llsten?ng 3. gﬁaaﬁ( 4| e
3. Informing 4. Speaku. 1g 5. Naélﬁmﬂaﬁﬁl 6| g /
5. Observing 6. Rezf.d.lﬂg 7. gt 8
7. Influencing 8. Writing _ ﬁmmﬁaﬁmmwaﬁﬁq:
Select the correct answer from the codes given | 5 4,6, £ b) 7.2.5,6
boley ¢ 5 b -“©) 3,5,2,7 @ 1,3,7,8 \
(a) 2) 4) 6, 8 (b) 7’ 21 ’ 8 87 ﬁ' ﬁ %q_ ﬁ' | ﬁ‘
(© 3,5,2,7 d 1,8,7 . aﬁqi it Iﬁ?ﬁﬁlf@%ﬂ? ST S EIRREL
. Which of the following type of memory has the (@) & &
shortest duration ? <
(a) Immediate memory (b) Eﬁmf‘ﬁi F!i%i_
(b) Iconic memory (c) gﬁi}aﬁaﬂdaﬂﬂ Wﬁ[@iié'
() Working memory (d) B - e
(d) Echoic memory 88. Wmm) T T {
B. Functional fixedness isakindof __——— (a) gf\g qsf?'\g'
(a) Confirmation bias (b) AT x@:qm
(b) Mental set ( Y)d v
(¢) Forward working @ Wﬂ%ﬁ'
(d) Creativity bias . . ~ 3 2 - . 53
W is/are used by human beings 16 R R o ST E |
of the time to control the behaviour of othe 1 |
as well as of themselves. . (a) Y55 Lb_)_, EUE/HG{T" _
(@) Words (b) Punishment © T @ W
....... (¢) Rewards (d) Postures
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90.

91.

92.

93.

%The Vision

What are the examples of interpersonal
communication ? S

Seminar

Journalism

Office operation

Letter writing 5
Study—Teaching

Conversation

I

LN
7. Interview ™

Select the correct answer fi'oin the codes given
below : '

(a) 6,7,5,3
() 2,4,7,6

(b) @;{3, 517

(d) 4,521

Which of the following is an example of
mediated communication ?

(a) A newscaster delivers the weather report
on 9 o’clock news ‘

(b) A polit_ician addresses a nominating
convention

(c) Two friends gossip with one another

(d) Students work on a clgsjs project together

ﬂ-

The role of a leader is défihed by the three

circles of need : g .

1. Task (a8 e

2. Function

3. New ideas

4. Team

5. Process

6. Communication

7. Individual

Select the correct answer from the codes given
below :

LN
(a) 2,4,1 (b) [3;1,6
() 7,5,3 (d) ;{;4,7

If in a non-leap year, ?‘E is Tuesday on
28" February, then whdtyday will be on
28" March of that year ?

(a) Monday (b) Tuesday

(¢c) Sunday (d) None of the above

90.

91.

92,

93.

DST.F-2-24

i A SR AT AR
L

2. wFIET

3. i HEET

4, TG

5. 3eEA — A

6. i

7. EIETHR
ﬁ%ﬁqm@éuﬁmmwﬁﬁm
(a) 6,7,5,3 ® 2,357
() 2,4,7,6 d 4,521

Erforfiae i & -8 FEEICT SR T IR R 2
() Felt T TR B 9 3 1 W
Hrgm Y featé & |

e ST T AT TR ot HelTed T
3y ot <t 3w 7 T

AT St Feret ST Tistae O U | 3T AT

(b)
(c)
(d)

T Jar i g ATavEEar & dF RO
gfonfya Hr st @
wrd

nifafafer
q fa=m
5

o

wfsrar
IOy
. =t
= e e e & Wt gut == fifvr

(a) 2,4,1 (b) 3,1,6
(0 7,5,3 (d 1,4,7

N oA @ Nop

afe <t ofte f 72 R, 39 99 28 wEd FY GIeER
TSI 8, T 28 AT ol 39 a9 - R w2 2

(a) WHAR (b) WIEER
(d) ITYH & q IS 7l
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V.

%The Vision

{her name of interpersonal communication
0

P o
P Face-to-face public communication
virtual reality

Mass communication

piadic communication

(8)
(b)
c
@ : _
ich one of the following pairs is not
g5 i crectly matched ?
@ Thorndike — Stimulus-response bond

theory

() Skinner  — Operant  conditioning
theory

(¢) Kohler = Insight theory

) Pavlov — Gestalt theory

‘ which of the following is a characteristic of a
i good decision ?

(a) Itis based on intuition

(b) It ignores stakeholders’ interest
(c) Itis feasible and achievable

(d) Itis made quickly

¢l The process of problem solving where the

94,

95.

96.

97.

waﬁf@m%:
(a) W—Wﬁmaaﬂ/

(b) et STefararay
() SHEER

(d) srafew (fidramr) gam

et gt i & 2. o e o 22

(a) UHETEF — S-S Ragiapr

b) R~ By s frgia_—

© BT N Fdhe (g2 1 fogia,

C)RIERE] (?‘:, TiehRETE (reree figr)

%ﬁfﬁf@aﬁmm@mﬁmamm
? ™

(a) & F<TH WGBTS

(b) e fecameant % fedi 1 st (<vam) wear
(¢) TEaeH Ay

(d) ¥ See o forar smar @

HERIT-HHTY <Al SToRaT T8t o 1 Faef U of
IR :

DST.F-2-24

problem has only one single answer is (a) 3UEr e
(a) Divergent thinking (b) I “)aﬁ
(b) Trial and error ©
(c) Insight @ .
C t thinkin, .
(d.) onveTBen ‘. . |98, ot R R et w0 § o
$. Find the missing number in the following oY . - 3
arrangement based on some principle : AT <l T 5;!|3|Q.
9
15 | 18 | 21 16 ) 18 |21
Select the correct answer from the code given :n%ﬁqnq@ﬁaé‘rwamw Eliliilq:
Belowr — —————— (@) 5 (b) 8
@ 5 (b) 8 (c) 4 (d) 6
© 4 (d 6 99. 7,11,19, 86 67 i stmen # ovwm we
% What will be the next item in the series (gEm) ‘@r ?
7,11, 19, 85,67 ? (a) 121 N (b) 133
() 191 >~ (b) 133 € 99 g d 131
10 © 99 @) 131 100.  HEM S O € o N SR s
"~ allows several people to use software I FE D yﬂqﬁf T 2 A TS R ¥
?: tll:e same time to create documents, keep o qﬁm&ﬁmﬁt@ﬁl
ack of projects. ‘
(a) Groupware (b) Network (a) !\:l_[ ki (b) ek
gn '-_.:fc Software (d) E-mail (c) HT‘E'Q?T{ ) (d) §-ﬁ'€"
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